Maytag MFR18PDAAS 10 - BASKET AND OUTER SHELL

Maytag Commercial Maytag MFR18PDAAS Washer Parts Parts Diagram 10 - BASKET AND OUTER SHELL
Click on the part number to view part

Original Part Number Replaced By Part Description

002 23003335 23003747 Drum/Shaft

" 23003747 Drum/Shaft
003 23003806 Tub
004 23003790 Plate Base Without/Holes
005 23001383 Plate, Back
006 NLA Not Available RING
007 NLA Not Available SHIELD
008 23001387 Gasket, Shell
009 23001200 Hinge, Mirco Switch
014 23003807 Temperature, Sensor Holder
015 23002179 Washer Nut M14
017 23002936 Lﬁ:n&ﬁfnture, Sensor Holder,
020 23002646 Screw
022 23001607 23001266 Nut M8
028 23002617 23001777 Screw, Drive

029 23001204 Washer, Finishing


http://www.pwslaundry.com/c-299367-commercial-maytag-mfr18pdaas-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799219-maytag-23003747-washer-drum-shaft.html
http://www.pwslaundry.com/i-7799219-maytag-23003747-washer-drum-shaft.html
http://www.pwslaundry.com/i-7799265-maytag-23003806-washer-tub.html
http://www.pwslaundry.com/i-7799250-maytag-23003790-washer-plate-base-without-holes.html
http://www.pwslaundry.com/i-7797895-maytag-23001383-washer-plate-back.html
http://www.pwslaundry.com/i-7797897-maytag-23001387-washer-gasket-shell.html
http://www.pwslaundry.com/i-7797778-maytag-23001200-washer-hinge-mirco-switch.html
http://www.pwslaundry.com/i-7799266-maytag-23003807-washer-temperature-sensor-holder.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7798726-maytag-23002936-washer-temperature-sensor-holder-nut-m14.html
http://www.pwslaundry.com/i-7798522-maytag-23002646-washer-screw.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798101-maytag-23001777-washer-screw-drive.html
http://www.pwslaundry.com/i-7797781-maytag-23001204-washer-washer-finishing.html

030 23002473 Rubber, Protectiv

032 23002398 23001089

034 23003791 Plate, Motor Wiring Fixatiol

laundry company*

laundry company®

laundry company*



http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7799234-maytag-23003765-washer-bolt-m8x35.html
http://www.pwslaundry.com/i-7797695-maytag-23001089-washer-screw.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7799251-maytag-23003791-washer-plate-motor-wiring-fixation.html
http://www.pwslaundry.com/i-7799252-maytag-23003792-washer-plug-6-diam.html

	Maytag MFR18PDAAS 10 - BASKET AND OUTER SHELL

